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2
)
11.1
11.1.1
|al.
11.1.2
. : c=a+b
Q). : Aa
d#6( ), d,=3a/lda| , a=lala,
).
é,B a, O<a<r,

a b ab a-b=al-|b|-cosa

() dlbe<d-b=0.

2 4a b , cosa= Ea,bl

|al-|b|
@ |@b)dal-lb| @lak=/@a,
5) a b : (a)5=a-60=g
b
).
axb ( ) , laxbHal-|b]|-sina
(€)) axb=-bxa;

(2) (Ja+ ub)xC=2axC+ubxC
(3) dxb=0<4allb
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(1) (a,b,c)=(b,c,a)=(c,a,b)=—(b,a,c)=—(5c,b)=—(,b,a)

(2) 3,b,¢

11.1.3

(1)) albedb=0.
() dxb=0<adllb < 31,d=A1b .

3) a,b,c < (d,b,6)=0.

11.1.4
Q).

o) P(a,b,c) oP

OP =(a,b,c), : a,b,c

®).

d=(a;,a,,a;) b =(b,b,,b;)
: a+b=(a +b)i+(a, £b,) j+(a, £b,) k

Ad=Jai+la, j+lak; Ad=(la,]a,,la;)

a-b=ah, +a,b, +a,b,;

a’=a-d=a’+a,” +a, ,|dl=+d-a=+a°+a," +a;

a |al=1
i :g:a—jf+a—f]+a—fﬁ = CoSa i +cos 3] +cosyk
& fafa
a, B,y a Ox,0y, 0z
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cosa , Cos 3 ,cosy a

cos® a + cos® B +cos? y =1

4). ik
ixj=k, Jxk=i, kxi=]
=K Ko Fxk=r]
ixi=0, jx]j=6, kxk=6

ik
d, da| . [A: Q| = -
2 87, % %) 5 a1a2k=a1a2a3
b, by| |os b " b b,
by b, by
5).
B B a a, g,
(@,b,C)=axb-C=|b, b, b,
Cl C2 CS
1 d=i+],b=-2i+k, ab
— - - 7 7 14
2 a=(0114),b=@10-22), b a ——,—
114 ( ) (18 8’9
3 A@L,2,0), B(-1,31), C(2,-1,2), AABC (%x/g.)
4 A@11-1), B(-2,-2,2), C(1,-12), D(0,0,0)
11.2
11.2.1
€Y
T T T T
(r-ry)-n=0
MOM=F_FO:(X_X01y_yolZ_ZQ),
° A=AT+Bj+Ck,  M(X, Yo 2,)

A(X_Xo)+ B(y_ yo)+C(Z_Zo) =0
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° Ax+By+Cz+D=0, Ai=Ai+Bj+Ck,

S M, (X;,Y1,21) s M, (X5,Y,.2,) M5 (X5,Y35,25) , -

X=Xy Y=Y Z-174
Xo=X Yo—Y1 Z,-12;|=0 T
X3—=X1 Yz3—Y1 Z3—7;

6 a M,;(10,-1),M,(-213), a=2i-j+k

V4 -5(x-1)-1(y-0)-(z+1)=0,

5x+11ly+z-4=0

€)
Py (Xgs Yo:20) 7:AX+By+Cz+CD=0 ., Py 7
—— | AX,+By,+Cz,+D|
| PP, | = - > 02 02
VA°+B°+C
11.2.2
(D
g Mo(xmyo’zo)’ \7:(I,m,n)
X=X, +It
y=y,+mt (-0 <t < +0)
z=17,+nt
° t, ( ):
X=X _¥=Y¥ _2-%
I m n
7 Mi(X,¥1,21)  My(X5,Y,25)
X=X, + (X, = X))t
y=y, +(y, =¥t (—o0 <t < +o0)
2=12,+(z, -z )t
8 I 7 3X+2y+4z2-11=0 7,:2x+y-32-1=0
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x=1-10t
I Toqy=2+1T7t (o <t < +00)
z=1-t
@
1) Ll, |—2 Vl y \72 o
T LT, a n, ,n, a; L V2
i L v fi a OSaS%.
2) L v, i
11.2.3
@
F(y,z)=0
L { (v.2) >0,L Oz s
x=0
=0=F w/x +y?, ): S
9 {Z v’ 1<y<2) Oz
x=0
S 2 — (X2 + y2)3
@
1). L .M L M
L M L
M L
10 yOz z=ky(k>0) Oz
S:z=kyx®+y?,
L X2 + y2 _ k2
z=k
2) L I I L
L L
2 2 .2
1S L: {X Ty =4 Oz S
z=0
Oz L L
0Oz (x,y,z2) Oz
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(X, V,2) x> +y?=a’
S
y=x?
12 S L: Oz S
z=0
3)
i).
R (%1 Yo Zo) .R(>0) D (X (YY) +(2-%) =R
X2 y2 Z2
a,b,C , ¥+F+?:1
ii).
z=a(x’+y?).
z=ax’+by? (a,b>0),
z=ax’-by?’(a,b )
11.3
11.3.1
() Q R" f
XeQ, u, f Q n
f:Q->R.
S T
X:(X]_!XZI""Xn) eQ Q
u X u=fX)=f(X,%,..X,) (XeQ).
)
)
z=1(xy); w=1(x,y,2)
F(x,y,2)=0 z=12(xY)
X = x(u,V)
y=yuyv) . z=12(xY) -
z=12(xY)
AY
13 z=f(x,y) 1
D,
D:{(x,y)|OSX£1,0£ySX}, D, Dy
www.tsinghuatutor.com -6- D, B85
>
0 1 X




2005 1006 1101

62781785

w(x,y)=f(x+y,x-y) (Cc)

() D,uD, (8 D,uD, (¢) D, (@® D,

11.3.2
)

e f:DcR">R, d(x,y)=]y-%. aeR

1 X,eR" limf(X)=a< Ve>0 36>0 vXeD,

0<d(X%,) <5, |f(X)-ale

° - lim f(X)=0 f(x)=0(1), (X > %,);

X—Xg

. (%)
* ) 9(%) -°

()

@ : «C D

@ :

@ limf(X)=a< f(x)=a+0(l),(X— %)

©)

(%,¥)>(xo0Yo) X=X
Y—=Yo

lim lim f(x,y), lim lim f(x,y)

X=X Y—>Yo Y—>Yo X=X

lim 1 (), y(0)

{x =X(t)

y=ylt) " X(to ) Yo = ¥(t,)-

2

14 f(Xy)—lx| I |((Xll);f'ﬁ(OO)) limf(x.y)

8

x>0,y<0,|x|+]|y[#0,

1
y _JX=Y¥
X

=y

, X-y20,|x|+]|yl#0-

-1, x<£0,y>0,|x|+|y[Z0,
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1, if y=x*
6 fooy) =4 " YT lim f (%, y)
0, if y=x° oe]
@
©) lim f(x,y)
V=
lim £ (x, y) = (y)
lim lim £ (x,y) = lim p(y)
.1 .1
xSin—+ySin—, x-y=0
17 f(x,y)= y RIS d
0, x-y=0
11.3.3
() : f:DcR">R , X,eD
f X < lim f(X) = f(X,) .
: Ve>0 36>0 vVXeD, d(X,%,) <3 >
| f(X)—alke
- V(X )= D%, = X,, lim £ (x,) = f(%,).
: VU, (@)c R 3U,(%)<=R", v, eU,(%,).
| f(X)-alke.
f(X)=f(%X,)+0(1),(X > %,)
vU,(@)c R 3U,(%)=R", VX, eU,(%,)nD., [f(X)-ake.
)
(€))
(2) U(Xv y),V(X, y) Q ’ f (U,V) Q 1
(x,y)eQ u(x, y),v(x,y)) ey , f(u(x, y),v(x,y)) Q
€))
)
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@ QcR" ,feCl@. f Q
P,eQP,eQ,

f(P)=minf(P), f(P,)=maxf(P).

) QcR" ( ), feC(Q) . m = min f (P)
Mzrp:g(f(P) U, PeQ, f(P)=u.
QcR" , feC(Q) . P.QeQ,
f(P)-f(Q)<o0, P.eQ, f(P.)=0;
0 ( VP,QeQ=PQcQ)

P.ePQcQ, f(P,)=0

18 z=1f(x,y) R’ . limf(x,y)=+o0, f R?
y—o

www.tsinghuatutor.com -9- 1101 62781785



